°192 7"7 "0 R, 70 P2 .70

In the presence of Beis Din — 797 nS2 %152

OVERVIEW

The X773 cites a X072 which states that an ox does not become a ¥, until he is
warned in the presence of the owners and in the presence of 7"32 [as it is written'
Yoya3 79,2 Our N0 explains how we know that it needs to be 72 *192.
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This that the testimony needs to be in the presence of 7"2 is logical; it is not
derived from the 109, for who else will hear the testimony if not in the presence
of 7'"s2.

SUMMARY
Once the 770 tells us P9va2 79, it is obvious that this testimony must be 192
7",

THINKING IT OVER

Why did the ®n»72 mention together the 7"°2 °1521 0°5v1 °192 and say that they are
(both) derived from the 709 of 5v23 7TmM,* since 71 *191 is derived X120n, and
not from a ?105?!

"va,%2 (@Pwown) nmw.

? The bracketed area is added by the 2" (on the X7a3). See “Thinking it over’.

* We derive from the p109 of 1%¥22 797 that it must also be in the presence of the owner, but no 109 is required that
it needs to be in the presence of 7""2.

* See footnote # 2.
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